SEncan

Art. No. 531031

Product: Cordless Drill

2022. 8

Enable Time

Version No.




SeEncan

Product:Cordless Drill

Art. No. 531031

No. | Part Name(Chinese) Part Name (English) Code Qty | No. | Part Name (Chinese) Part Name (English) Code Qty
1 |RFUBEIME X 22-LH  |Screw M5X 22-LH 30201075 1
2 Bk Chuck 10304001031 1
3 |Hn b Output Spindle 10301001145 1
4 |3 X3.7X10 Woodruff Key 30601004 1
5 |4#i&6002-2RS Bearing 6002-2RS 30103023 1
6 | Kikife Gear 10302004051 1
7|l A R 12 Circlip for Shaft 12 (30301023 1
8 |fhk698-2Z Bearing 698-2Z 30104068 1
9 [MRETSTAX 16 Screw ST4X 16 30202022 10
10 |fAL5E Right Housing 10101002199 1
11 & lifhRk4. 8X9X 4.5 [0il bearing 4.8X9X4.5 (30102014 1
12 |%l7&609-2RS Bearing609-2RS 30103059 1
13 |#1 Armature 10502001309 1
14 |#h7K607-2RS Bearing607-2RS 30103037 1
15 [ET Stator 10501001069 1
16 |45 % Coil spring 10303002021 2
17 |4 15X9 Brush Holder I 10606001182 2
18 |#ZETST3X 10 Screw ST3X10 30202001 4
19 |BRI5X9 Carbon Brush 10605001178 2
20 | Nameplate 20302009012 1
21 |ZEWLFE Left Housing 10101002232 1
22 |JFHRAHEFT Switch Lever 10101007180 1
23 |FF% Switch 10601001280 1
24 |HE Capacitance 10603001032 1
25 | H Inductance 10604001060 2
26 |HgiyE Cord Sleeve 10102001025 1
27 |HiEZ2X0. 75 Cable 10602006018 1
28 | HEfilE 2z Connect Wire 10401008052 1
29 |figstibe 0il Storage Chunk 10509001035 1

Version No

Enable Time

2022.8




	531031爆炸图
	531031爆炸图清单

